[image: image1.png]4. Work out the Fourier series of f, given over one period as
follows. At which values of z, if any, does the series fail to
converge to f(z)? To what values does it converge at those
points?

(@) z on (—, 7] (b) || on (—m, 7]
(©) |z] on (=27, 27] (d) 50 on (0, 2]
(€)500n (0,2), 100 atz = 2

H500n -8 <z < —-2,00n-2<2<4

(9) |sinz| (for all z)

(h) | cos z| (for all )

()sinzon0 <z <mOonw<z<2r

(j) 20 + 3sin 4a (for all x)
kKzon0<z<l,lonl<z<2




(Please solve for only (h) and (k). Thank you.)

The problems are from Fourier Series of a Periodic Fuction.

